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QUESTION 1

An architect is designing Active Directory (AD) permissions for a Horizon environment that will use pre-existing
computer accounts. The AD Security Team has restrictions about the use of service accounts. What two sets of
minimum permission are needed to delegate to an AD service account? (Choose two.)

A. Create Computer Objects, Delete Computer Objects

B. List Contents, Read All Properties

C. Read Permissions, Reset Password

D. Write Permissions, Change Password

Correct Answer: BC

Reference: https://pubs.vmware.com/view-51/index.jsp?topic=%2Fcom.vmware.view.administration.doc%2FGUID-
ED99E026-5D70-4ADF-B4BC-A64A3386E10C.html

QUESTION 2

A customer wants to deploy VMware Horizon View to support virtual desktops hosted in two different physical locations.
It wants users to connect to the location nearest to them to start a session. Which three steps must be completed to
enable this functionality? (Choose three.)

A. Configure one View Pod spanning two sites.

B. Initialize the Cloud Pod Federation.

C. Configure Global Entitlements.

D. Configure VMware User Environment Manager.

E. Configure two View Pods.

F. Configure Microsoft SQL Server Always On High Availability.

Correct Answer. ABD

QUESTION 3
An architect put these statements into a design:
1.

Horizon to integrate with current authentication solutions (directory services and two-factor authentication mechanisms)
for internal and external access.

2.

Desktop and application access and provisioning should be managed through current authentication mechanisms.
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In which design category does the scenario fit?
A. Requirement

B. Assumption

C. Risk

D. Constraint

Correct Answer: A

QUESTION 4

A customer is struggling with how to support application delivery to its highly mobile sales force. There are two Windows
applications that need to be delivered, which could present a challenge. Both applications use a local copy of the central
database and the applications are frequently being updated.

During assessments and user interviews, the sales personnel indicated that they frequently use these two applications
while traveling in areas with poor connectivity. The sales people rarely connect to the company network. Pushing out
updates using a traditional deployment system is therefore difficult.

Which solution from VMware would solve the customer\\'s situation?

A. Package the applications as an App Volumes Appstack. Manage delivery and updates off the Appstack using
VMware Identity Manager.

B. Package the applications using ThinApp and manage delivery and updates using VMware Identity Manager.

C. Install the applications on RDS Hosts and publish them using Horizon 7. Since installed centrally, management of the
applications will now be possible using traditional methods.

D. Package the application using ThinApp for isolation and publish them to users using Horizon 7. Place the ThinApp
packages on a network share for central and easy updates.

Correct Answer: D

QUESTION 5

A small government organization wants to implement stateless desktops using VMware products. The IT team is unable
to add or alter any GPO in the organization\\'s Active Directory. It wants to minimize the storage space required for the
user VMs and preserve user\\'s profiles and other personalization settings.

Which accomplishes these goals?

A. Horizon Instant Clone desktop pools with VMware User Environment Manager

B. Horizon RDS desktop pools with App Volumes Writable Volumes

C. Horizon Full VM desktop pools with App Volumes Writable Volumes

D. Horizon Linked Clones desktop pools with persistent disks
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Correct Answer: D
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